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Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-1
Examination of the Four/Five-Year Degree Course, 2018-19

SEMESTER-I
INTRODUCTORY BIOLOGY
(BIO-111)

Time : 2 Hours
Section—I :10

Maximum Marks : 70
Section—1I1: 60

Attempt all questions.
Answer of Question No. 1 and 2 be written in the space provided alongwith the questions
in Question-booklet. Answers of Question Nos. 3, 4, 5, 6 and 7 be written in
the Answer-book provided for writing answers.
In case of any discrepancy in English and Hindi versions of the paper,
only the English version be taken as correct.
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SECTION -1
gus - |
Time : 20 Minutes] [Maximum Marks : 10

The Objective part (Q. Nos. 1 and 2) is to be covered in the Question paper itself and would be
collected by the invigilator after 20 minutes of the commencement of the examination.
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In Pea, tendrils are modifications of
(1) Leaf

(2) Stem

(3) Leaflets

(4) Stipules.
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Verticillaster inflorescence is found in
(1) Tulsi

(2) Cathranthus

(3) Sunflower

(4) Pea.
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Which cell organelle is called "Suicidal bag"?

(1) Peroxisomes
(2) Ribosomes
(3) Vacuoles

(4) Lysosomes.

FH-T PRSI  SoTERT 1 FEdw 22

1) Ry

() TEERE

3) RfEm
(4) wEENEEE

' 16/000/(1390)/C-324

[P.TO.



UYL B GRIGH NN

{_ (vii) The fruit of wheat grain is
(1) Cypsella
(2) Caryopsis

(3) Legume
(4) Achene.
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Which of the following has both animal and plant like characteristics? D
(1) Paramecium
(2) Chlamydomonas

“(3) Yeast

(4) Euglena.
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. (@ix) Crossing over starts at 4
(1) Zygotene D

(2) Pachytene

(3) Diplotene

(4) Leptotene.
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Who gave the "Theory of inheritance of acquired characteristics” ? D
(1) Lamarck

(2) Charles Darwin

(3) Hugo de Vries

(4) Ernst Haeckel.

“Iufsia agon w1 Famla @ fag” e o an

1) A

2 =d sfd A

3) T & @ A

@) TE THa A

2. Fill in the blanks : (10%x0.5=5)
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The Greek term "EUgenics” IMIEANS ...........coeeosossesseasensssseseasesnssmestseseestomstes
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Nucleus was discovered by .........ccocoeeereeesreeseneesensnnenesneseseeanns in 1831.
H5E @S 1831 | SR . A = A
Periderm/Cork is formed by ... atin e ssansdasabinad cambium.
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Seeds with two cotyledons are called
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.. plants do not have secondary growth generally.
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Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-I
Examination of the Four/Five-Year Degree Course, 2018-19

SEMESTER-I
INTRODUCTORY BIOLOGY
(BIO-111)

SECTION - II
qug - 11

Time : 1 Hour 40 Minutes] [Maximum Marks : 60

The Subjective part (Q. Nos. 3, 4, 5, 6 and 7) is to be covered in the Answer-book provided for
writing answers. The Answer-book would be collected by the invigilator when the candidate
finishes as per rules.

The question paper containing the Subjective part can be taken by the candidates alongwith them.
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3. Define the following : (5x1=5)
Frafafaa +t wftafia S .

(i) Collenchyma.
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(ii) Capitulum inflorescence.
HSF ToHHI
(iii) Genetic diversity.
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4. Differentiate between the following : (2x3.5=7)

frafafaa o 3R *INTC :

(i) Monocot stem and Dicot stem.
AT o 9 fleret
(@) Mitosis and Meiosis.
TG A St fare
(2x6=12)

5. Write short notes/comment/justify the following :
frafafaa ®t S8y o feof/avi/=ren SiY :

(i) Modifications in Roots.
e 9 IR

(ii) Seed germination.
S S

6. Explain any two of the following three questions in 1-1%2 pages. (2x8=16) |
fretffian @ Tl F R Fr @ B IW 1-1% W ¥ A |

(i) Give flower description of pea plant with floral diagram and floral formula.
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(ii) Describe the structure and function of Plasma membrane with suitable diagrams.
Fifer et #t W= 7 wwl W ohm avh St

(i) How is the use of animals beneficial in agriculture? Explain giving examples.
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7. Explain/Describe in detail any two out of the following three questions in 2-3 pages. (2x10=20)
frafafaa @7 wwail & @ fRl @ @ 3W 2-3 W9 A A

(i) Describe Mitosis in detail with well labelled diagrams.
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(ii) Describe the internal structure of a dicot leaf with diagrams. How does it differ from
monocot leaf?

feeireht 7of Y stiafe S fasl g SHERYl CEHESeEt quf @ e SR qawy)

(iii) Describe the complete morphology of a flowering plant taking Mustard as an example.
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